RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-18385\C - Drawings\FL 18385 (2017)\FL-18385.2.dwg, FL-18385.2

Suwre Rock

Works

(o

Fiberglass

15759 Tapia St.
Irwindale, CA 91706

Sure Jamb

COMPOSITE DOOR JAMB
INSWING / OUTSWING
"IMPACT"

GENERAL NOTES

. This product has been evaluated and is in compliance with the éth Edition (2017} Florida Building Code

(FBC) structural requirements including the "High Velocity Hurricane Zone" (HVHZ).

. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base

material shall be beyond wall dressing or stucco.

. When used in the "HVHZ", this product complies with Section 1626 of the FBC and does not require an

impact resistant covering.

. This "IMPACT" door jamb, as a component, is to be used as a substitute to a similar door jamb in an

impact approval (complies with Section 1626 of the FBC) door system possessing a current Florida
Statewide Product Approval (Including the "HVHZ").

. The design pressure of the assembly shall be the lesser of the design pressure for the door jamb shown

in this approval or the design pressure of the door assembly used in conjunction with this approval.

. The maximum frame size of the door assembly shall be lesser of the maximum frame size stated in this

approval or the maximum frame size of door assembly approval used in conjunction with this approval.

. Refer to the separate Florida Product Approval for the swing door used in conjunction with this component approval

to determine the ability of the system to meet the water infilfration requirements for the "HVHLZ"

. Air and water infiltration qualifications to be reviewed by the Building Official.

. Site conditions that deviate from the details of this drawing require further engineering analysis by a

licensed engineer or registered architect.
TABLE OF CONITENTS

SHEET# | DESCRIPTION
1 Typical elevations, design pressures & general notes
Elevations
Horizontal cross sections
Vertical cross sections
Buck and frame anchoring
Buck and frame anchoring
Bill of materials and components

Niovin i |WIN

Sure Jamb

37.5" MAX
~=— FRAME —=
WIDTH

98" MAX FRAME HEIGHT

~=—74.5" MAX FRAME WIDTH ————-l

\‘ SWING DOOR J

UNDER SEPARATE
APPROVAL

37.5"x 98.0" +70.0 -70.0 +70.0

74.5" x 98.0" +45.0 -50.0 +50.0

-. ” g
N
L - N
YO g SR
g:(:ZJ'\
&= kg
IOy .=
.°\‘E oo
FOS ZO0gm
Lo XTRY

&\\\ H58w®
N\ 3> a0

\\\ Zon 6

or®z

& SN

'uﬁ ngdg
© Zz O
t Eo E0yg
2 €0 9 cuw
£ A% 502%

LT Dhoanw

PN
0
e C
Eg”

3 Bu

8 2o

w
=
52
wy
&
x <
.
S Z 0
& S=
L =k
W > <O
E oo
%) =]
o o,
s |9 uw
] —J
T < <&
£ Q=2

o v

o &

o] tL‘J

8 |gE

a
o
& P
>_
o
%
=z
O
w
>
i8]
o
i
<
o
o
Z
oae: 10/18/17

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—18385.

2

shEer 1 ofF 7

© 2017 R.W. BUILDING CONSULTANTS INC.



TONG SINVLINSNOD SNIAQTINg "M'Y L 102 @

£186 'ON "v'0 3d8d SNOISIAZY
L616'6S9°CL8 "ON 8uoud A8 31va TONI™S N |
S6SEE 4 ‘OSLIPA ‘OST X08 ‘O'd § SNOLVAIT JJalx|2] 9 |
o_ﬂ ..m.rzs,._:wzoo oNIaNg @» ATENISSY ¥0 Livd © M 1. ) &
i 11y g
//ﬁ 17 ™~ Z — |y
///,wrv .,Kzo\@ 2, 60¥CH ‘ON ‘I'd SININOWOD 2] |5]5le ! _
l///o....&.mwﬁo.ﬂ.h.... % IPIWYDS ‘4 uopuAy AD0d 3¥NS WH glglglg|E v G
> &... OIS =) 2. A8 _pedodesd sjuswnoog 10NQ0Yd HEIHEE &
Byl vRz ogsey
m.fm :
= % eovepoN { = m\
\\ .lI .I. ,II
- e, -oo ~
%, LGN A §

O | ,
| o | o | e
Or—3|°
@
CRSPSP :
O 3| ;

7z 'BMp'Z'S8EST-14\LTOZ) S8E8T 14\sBuImeIq - D\SBEST-Td\s|eACIddY 10nPOId ePLOK ~ YALNINVINYId %00 3ns WHASIUID\Y



RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-18385\C - Drawings\FL 18385 (2017)\FL-18385.2.dwg, 3.2

1-1/4" MIN.
EMB. (TYP.)

INTERIOR

N

\\

EXTERIOR

m HORIZONTAL CROSS SECTION

1-1/4" MIN. \_3_/ Shown w/1X sub-buck

EMB. (TYP.)

0.15"
|} C'SINK
(TYP.)

INTERIOR

®
v

Tog7 wm

/"1 \ HORIZONTAL CROSS SECTION
w 2X Buck Construction

Noie:

See separate side-hinged door Product Approval for door

INTERIOR

1-1/4" MIN.

MY

N

EXTERIOR

7“3\ HORIZONTAL CROSS SECTION

w Shown Direct to masonry

C'SINK —=]

INTERIOR

0.15"

(TYP.)

EMB. (TYP.)

1-1/4" MIN.

A\

N

EXTERIOR

construction details not shown, including lock hardware, asfragal,

hinge and threshold connections.

@

/4 "\ HORIZONTAL CROSS SECTION

®)

EMB. (TYP.)
@

W 2X Buck Construction

\)

tiy
'}
X ke

R
\)

N
e
W

LT

,%
%
%
/)
)
BUILDING CONSULTANTS, INC.

]

w SIAE OF
/ONAL

@.
I,,s

813.659.9197

P.O. Box 230, Valirico, FL 33595

Documents Prepared By:
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE C.A. No. 9813

HM SURE ROCK
COMPONENTS

HORIZONTAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

o
<
a
o
Z
7

oate: 10/18/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-18385.2

SHEET 3 oF 7

© 2017 R.W. BUILDING CONSULTANTS IND.



TON SANYLINSNGOTG aNigiing "My 4102 @

€186 'ON 'v'O 3d84 . SNOISIAZY R— N
LB1LB'6S9°CL8 "ON suoyd —1 . %) S AL
sesce 14 ‘oawen ‘ocz o8 0'd [ SNOLLO3S SSON0 VO3 Jalx|e| 2 F_
"ONI ‘SINVLINSNOD ONIdTiNg @ ATBNISSY ¥0 Livd 2= PRl
iy, S E S|
/wakv)<20\.m\\\ 60%CH ON “I'd SININOWOD = |&l&lg |
SO aiioy . &\\\\ WPIUYDS "4 UOpUA X008 34NS WH NEIM
Il/ @.... ", % g peiodesd sjuewnooq 110NaoYd SIBIEIS|S @
m: m‘. <o 7y
Exi ¥ T i¥T 2y
= % 6oEroN ¢ I
- LA o ~
- . 0 ~
- -oo c.- Ny
%, LGN A 8
U INEHS D & .
g (‘dAL) "aW3
NIW /11
N (‘dA)
I —1 = ANIS.D
. :m~¢o
v v
v e
R S
e :
o
= Ole
0 =8
f...w D
A%
3.9
Ol o
. &2
ALY, - C m
<G
Ol
S
Mn.. o
>IX
S
L
—_
Z
B
g
=
- w)
2 g
T 5
52
Z%T
s 8
v
QO
[eNge)
Lo
T £
20
T 2
°0 .
£y
352
T O %
5 E
o5 @
('dAL) ‘aw3 g 5 8
NIW b/ 11 T ..m 2
T += £
T =98
O o o £
, SS%
v v OO0
Q50
2N v . o) .W °
, o520
[
218 8 &
o)
= o
05 Z/9
- m o
5 Elo
p=
e
Q9
O
&
> VB
-t O
<O
Ol%
1]
n_k.. =)
>IR
o
L1
T
<

7t 'BMPZ'SBE]T-TANLTOZ) S8E8T T4\sBuimeld - D\SBEST-T4\s|eroiddy 19npoid epLOld - VALNANVINY3 120Y 3105 WH\SIUSID\Y



R:AClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-18385\C - Drawings\FL 18385 (2017)\FL-18385.2.dwg, 5.2

- 4" (TYP)

(TYP.)

4 (TYP.) J -

13.5" MAX
0.C. (TYP)

axsuck—"1 |~
MASONRY —_
OPENING
CONCRETE ANCHOR NOTES:

BUCK ANCHORING

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations nofed as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, addifional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

W
1apcoN® | 316" 1-1/4" 3 1-1/2"
ITW " " 3t u
APcoN® | 174 1-1/4 2 4
EICO - N . .
uiiRACON®] 174 1-1/4 1 4

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

SEE HINGE S —
EOYDEFAIL Sl /
_ ; : ‘ N : < . 4/
LY 2X BUCK o
e 1X BUCK
AN
//\ _ DIRECT TO
2X BUCK MASONRY
(TYP.)
} T FRAME — " [I— S
><‘ -
iz
Ef). ():  w—
&o
1 g
..-l <
T o.E'q _2
in
: — hi
MASONRY
OPENING
ety = vq S— - - - e \ j
HINGE JAMB FRAME ANCHORING
Masonry construction
Note:

See separate side-hinged door Product Approval for
door construction details not shown, including lock
hardware, astragal, hinge and threshold connections.

\\\HHH“ /
\\‘\\\ x ,"’/,
S5y 8 £ 260
al 2 I E3ESes
2®S ¢ | PEiSSy .2
LA A\ ‘.‘. _."é.’s E 8 oM
2,2 ] RS B 585
/,,, Seoper Fp \\\\ 2250
SRt Zgwg
& O ”
SpE 2328
Xt £ 5%,
N8 68 Z56a
S22 Ba&l
in N 8
3 el
8 £ 5
) g Sul g
a o
()
\ :
y S
S
- X
Se | 2
E oW
- - 2XBUCK - R
g /T 1xBuck -5 |89
3 . I <
© | DIRECTTO ¢ ¥ <
2 MASONRY Ny 2 ° g
SEE STRIKE 0 S & @
PLATE DETAIL - o
>...
W o
STRIKE PLATE DETAIL
93]
prd
-] %
S
Led
[ 8
STRIKE JAMB
,\\
i 2X BUCK
L
1X BUCK S
°.0 < DIRECT TO S
o F MASONRY P
o Hod | ™ oate: 10,/18/17
(24) oAE NTS
@ DWG. BY: JK
] \ CHK. BY: LFS
DRAWING NO.:
HINGE DETAIL FL—18385.2
SHEET 5 ofF _7

© 2017 R.W. BUILDING CONSULTANTS INC.



T
w 1/
WK /, .,

\\
Sk Yo
S5y e paSz,B
)~ ) SEE HINGE (TYP.) =&5id 2 x P2 L,
ST 4‘/ I—- (TYP.) —>1 [.‘—(TYP.) I R S '-‘;“""a/ ) "1 ]4‘(TYP.) ;”\y'... ':'@6\5 z § g "
s ek YR Z I ',.. K N e
ERi T = &3 i ] %y & Seés
st * . st |1 ] | 7 ch \ .
S I T 1y, ‘u\\\i;; § § © 9
— I . -y SEE DETAIL 1 No 3 o x2<
N Lt H JUS & — © \ H j L e € zZ 0°0
(TYP.) ' — — ; %ig Eg 3%¢,
I MASONRY MESE 5028
MASONRY & ol "% maal
OPENING 3 \X
OPENING I %R | B =
- i 133
] g = 8 5e g
| Se 86 | ~ | | 2
ASTRAGAL in O i I <o . S
2X BUCK 0 Q < 3 I
SHOWN FOR I L0 @E B I _ 2 E 3 | S
—  REFERENCE | - X BUCK ASTRAGAL o J I Sgl <
ONLY I SHOWNFOR |l X0 | = WPk
I . REFERENCE || | I Eelg &
" ONLY I - 53|
s z < %
L n I 5T |8 <
o — . 1 e ¥ m
S | I =__ - e & &
TN f e N T &
o .
e =
:‘q. =
BUCK ANCHORING HINGE JAMB FRAME ANCHORING © _ASTRAGAL
Masonry construction
)
z
P, >
v
‘ S
- b o
2X BUCK == =
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the comers may be adjusted to maintain the min. 1XBUCK
edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo DIRECT TO DETAIL 1 2X BUCK
maintain the min. edge distance to mortar joints, additional concrete anchors MASONRY ————— W
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. 5 1X BUCK I
3. ancrete anchor fablé‘ ® ':' o DIRECT TO o)
°.H MASONRY 5
i NCHO pate: 10/18/17
TAPCON® | 3/16" 1-1/4 3 11/ A scale:  N.T.S.
W ., " . " )
1apcon® | 14 1-1/4 2 4 HINGE DETAIL Nofe: owe. & JK
e . N CHK. BY: LFS
ELCO o 14 1-1/8" " g See separate side-hinged door Product Approval for ,
ULTRACON . ; : ; DRAWING NO.:
WOOD SCREW INSTALLATION NOTES: door construction details not shown, including lock FL—18385.2
1. Mainiain a minimum 5/8" edge distance, 1” end distance, & 1" o.c. spacing of hardware, astragal, hinge and threshold connections. :
wood screws to prevent the splitfing of wood. SHEET _6 OF _7_

R:\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-18385\C - Drawings\FL 18385 (2017)\FL-18385.2.dwg, 6.2

@ 2017 R.W. BUILDING CONSULTANTS INC.



R\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-18385\C - Drawings\FL 18385 (2017)\FL-18385.2.dwg, 7.2

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A | 1XBUCK [5G >= 0.55) WOOD
B | 2XBUCK (SG >= 0.55) WOOD
C | 174 MAX. SHIM SPACE -
D | 1/4"X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
£ | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F | 1/4"X 3-3/4" PFH ELCO OR TW CONCRETE SCREW STEEL
L | #10 X 2-1/2" PEH WOOD SCREW (1-1/8" MIN. EMBEDEMENT) STEEL
K |1/4"X 3-1/4" PFH ELCO OR TW CONCRETE SCREW STEEL
M | 3/16" X 3-1/4" PFH TW CONCRETE SCREW STEEL
N | 3/16" X 2-3/4" PFH TW CONCRETE SCREW STEEL
1| HEAD & SIDE JAMB COMPOSITE
7 | WEATHERSTRIP QEBD450 Q-LON FOAM
18 | 4'X 4" HINGE STEEL
22 | DEADBOLT STRIKE PLATE STEEL
23| LATCH STRIKE PLATE STEEL
24 | #10 X 3/4" PFH SMS STEEL
26 | #8 X 2" PFH WOOD SCREW STEEL
31 STEEL

ASTRAGAL STRIKE PLATE

1.25"

= 075" —=

247"

1

HEAD & SIDE JAMB

Sure Jamb

213"

0.35"

012" —»| e
0.03" —w={{——

813.659.9197

P.O. Box 230, Valrico, FL 33595
FBPE C.A. No. 9813

Documents Prepared By:
BUILDING CONSULTANTS, INC,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

COMPONENTS

PART OR ASSEMBLY:
BILL OF MATERIALS
& COMPONENTS

HM SURE ROCK

PRODUCT:

BY

REVISIONS

e
<
a
o
z
7

oaTE: 10/18/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-18385.2

sHEeT 7 ofF 7

© 2017 R.W. BUILDING CONSULTANTS INC.



